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Proval...
Problema 1
y1:67 y2:07 Y3:7> Y4:37
Xo1=2, Xp3=4, X43=10, x41 =12 x13=0, xp4 =10,
Problema 2
y1=0, y2=6, y3=3, ya=1,
X12="06, X32=2, X43=12, X14=0, x13=12, x42=6,
Problema 3
y1:55 y2:97 y3:47 Y4207 YS=117 YG:27
X12 =10, X32 =10, X33=10, X431 =10, X35 =4, Xo05=28, X3 =10, X64=0, X56 =0,
Prova 2...
Problema 1
y1:_27 YZ:Q Y3:5= Y4:27
X12=4, X03=28, X43=14, X14=12 x31=0, X4 =6,
Problema 2
yi=-6, ¥o=0, y3=3, y4=7,
X172 = 87 X273 = 2, X374 = 12, X174 = 2, X371 — 07 X274 — :]_27
Problema 3
y1:_117 Y2:47 YB:67 Y4:—5= YS:—47 yﬁzov
X12=12, X3=8, X34=0, X14=12 X15=8, X05=0, X63=4, X46 =14, X56=F6,
Prova 3...
Problema 1
yi=-5 ¥2=0, y3=6, ya=—7,
X12=4, X3=10, X43=8, X41=8, x13=6, X42=0,
Problema 2

y1:07 Y2:4, YS:67 Y4:27
X12=10, Xo3=14, X43=4, X14=10, x31 =0, X42 =6,



Problema 3

y1=0, y2=14, y3=11 y4=4, y5=4, Yg=1,
X12=10, X32=4, X43=14, x14=8, x51=0, Xo05=0, X63=10, X456 =12, X56 =06,

Prova4...
Problema 1
y1:_17 YZ:& YS:57 Y4:O,
X12=14, X32 =4, Xa3=12, X431 =0, x13=4, X42 =10,
Problema 2
yl:67 YZ:27 YS:Q Y4:—2,
X21= 107 X32 = 87 X34 = 07 X41 = 147 X31 = 10; X42 = 47
Problema 3
Y1=0, Yo=4, y3=2, Ya=—-2, Y5=06, Yg=—3,
X12=12, X32=6, X43=2, X41=06, X15=6, Xo5=4, X63=2, X54=0, Xg5=0,
Provas...
Problema 1
y1:07 YZ=87 YS:27 Y4:_3,
X12=10, x32=2, X34=0, X431 =10, x13=10, X42 =38,
Problema 2
y]_ZO, YZ:67 YS:—37 Y4:0,
X1,2 = 107 X3,2 = 127 X3,4 = 27 X4,1 = 07 X3,1 = 12; )(4,2 = 87
Problema 3
y1=0, yo=6, y3=13, ya=2, y5=10, yg= 16,
X12=2, X32=0, X43=12, X14=4, X1 5=12 x5=10 Xx36=28, X4 =0, X56 =6,
Provaé6...
Problema 1

y1=6, yo=2, y3=0, y4=0,
X1=10, X320 =4, X43=0, X41=06, X31 =14, X42=12,



Problema 2

y1=12 y>»=8, y3=6, y4=0,
X201 =6, X32=2, X43=10, X431 =10, x31 =8, Xp4=0,

Problema 3

yl:_87 y2:_17 y3:17 y4:5a y5:_37 y6:O7
X01=0, X03=8, Xx34=10, X14=14, X15=2, X52=28, X3=0, X4 =38, X56 =14,

Prova7...
Problema 1
y1:67 y2:_27 y3:07 Y4:47
X12=0, X23=28, X34=6, X41=28, x31 =10, X4 =2,
Problema 2
yi=4, Y2=2, y3=0, yz= 10,
X01=12, X32=4, X34=14, X14=2, X31=2, X42=0,
Problema 3
yl:07 y2:5a y3:_37 y4:47 YS:3> Y6:O7
X12=8, X03=0, x34=14, X41=0, X15=8, X52 =14, X36 =12, Xg4 =2, Xg5=12,
Prova 8...
Problema 1
Y1=2, Y2=0, y3=2, y4=4,
X21 = 4, X23 = 2, X34 = 12, X1,4 = 6, X1,3 = 0, X24 = 8,
Problema 2
y].:Oa y2:25 YS:& Y4:—17
X12=12, X3=28, X43=14, x41=0, X13=8, x42=12
Problema 3
y1:157 y2:55 y3:0v y4:207 YS=107 Y6=257
X01=2, X32 =12, X43=0, X14=12 X571 =12, Xo5=14, X36=2, X46 =14, X56=0,
Prova9...



Problema 1

y1:7? y2:07 YS:3; Y4:13;
X12=0, X23=2, X34=4, X14=06, X31 =10, xp4=12

Problema 2

y1=0, y2=10, y3=4, y4=6,
X12 = 2, X23= 0, X34 = 10, X14= 12, X13 = 2, X472 = 14,

Problema 3

yl:27 y2:07 Y3:6> y4:97 y5:_4a YG:—8>
X201 =10, X23=10, X34=8, X14=6, X51=2, X05=0, X36=0, X4 =2, Xg5="06,

Prova 10...
Problema 1
y1:57 y2:_97 YS:—67 Y4:07
X12=0, Xo3=2, X34=14, X41=4, X31=06, Xp4=2,
Problema 2
V1= _107 Yo = _67 Y3 = O; Y4 = 27
X12=2, X23=06, X34=14, X41=0, x13=12 X4 =4,
Problema 3
y1:27 YZZOa y3:177 Y4:07 YS:& YG:147
X21=4, X32=0, X43=10, X41=2, x15=2, X52=0, X3=10, X46 =38, X56 =14,
Prova 11...
Problema 1
y1:87 y2:67 YB:Q Y4:37
X01=12, X32=4, X34=28, X41=2, X13=0, X420 =4,
Problema 2
y1:07 YZ=37 YS:37 Y4:5,
X172 = 12, X372 = O, X374 = 14, X174 = 2, X173 = 4, X274 = 14,
Problema 3

yl:_127 y2:07 y3:5a Y4:9: y5:_67 YGZZ»
X21=0, Xo3=4, X34=06, X14=10, Xx;5=14, X52=12, Xs3=12, X4 =10, Xg5=0,



Prova 12...

Problema 1
y1:_67 y2:07 Y3:87 Y4:4,
X12=4, Xo3=14, x43=12 X1 =0, X13=4, %24=10,
Problema 2
y1:07 YZ:—67 YS:7; Y4:27
X01=28, Xp3=14, X43=12, X14=06, X13=4, X42=0,
Problema 3

y1=10, y=16, y3=4, ya=0, y5=8, yg =05,
X12=4, X32=14, x43=14, x14=0, x51 =4, X52=10, Xs3=0, X456 =28, Xg5= 10,

Prova 13...
Problema 1
ylzloa YZ:37 YS:57 y4:07
X01=8, Xo3=4, X43=2, X14=0, X31 =14, X402 =2,
Problema 2
y1:07 y2:47 y3:_27 Y4:27
X172 = 12, X273 = O, X374 = 6, X;|_74 = 14, X3’1 = :|_47 X472 = 10,
Problema 3
yl:47 YZ:—5, YS:O» y4:_37 YS:—]-, YG:3»
X12=0, Xo3=14, X43=14, X41 =12 X51=2, X5=10, X36 =2, X46=0, X56 =12,
Prova 14...
Problema 1
y]_:O, YZ:57 YS:37 y4:107
X172 = 6, X372 = :|.47 X374 = 14, X471 = O7 X]_73 = 12, X2,4 = 6,
Problema 2

y1:07 y2:27 y3:_67 y4:_17
X172 = 47 X372 = 6, X374 = 4, X;|_74 = 0, X371 = 12, X4’2 = 10,



Problema 3

yi=1 ¥2=5 y3=7, Ya=3, y5=0, Yo =12
X12=28, X23=14, X43="06, X14=6, X15=0, X52=12, x36=14, X64=0, X556 =12,

Prova 15...
Problema 1
y1:27 y2:_27 YS:47 Y4:O,
Xo1 = 10, X23 = 0, X43= 12, Xa1 = 4, X13= 14, X2 4 = 0,
Problema 2
y1:47 y2:_27 y3:07 Y4:—77
X2,1 = 107 X2,3 = 47 X4,3 = 47 X1,4 = 07 X3,1 = 87 )(4,2 = 67
Problema 3
y1:147 YZ:]-Q y3:6a y4:107 y5:87 y6:07
X21=8, X32=12 Xza=4, x41=2, X15=0, X52=8, X3=06, X64=12 X5=0,
Prova 16...
Problema 1
y1:37 y2:_57 y3:07 Y4:_2,
X12 = O, X23 = 12, X43 = 2, Xa1 = 10, X31= 12, X024 = 8,
Problema 2
y1=0, y2=3, y3=13, y4=38,
x12=14 X3=4 X43=14, x14=12 x31=0, 24=6,
Problema 3
Yi=3, Ya=7, Y3=—4, y4=-9, y5=0, yg=—6,
X12="6, X23=0, X43=6, X41 =10, X51 =12 Xs52=4, X63=0, X46 =38, Xe5=6,
Prova 17...
Problema 1

yi=4, y2=2, y3=0, ya=38,
X21 = 4, X32 = 14, X34 = 14, X14 = 4, X31 = 12, X24 = 0,



Problema 2

yl:_zv YZ:& Y3:57 Y4:07
X12=12, X32=28, X43=06, X14=28, X371 =0, X42=38,

Problema 3

Y1=4, y2:0’ y3:37 y4:67 YS:97 YG:27
X201=12, X3=6, X34=2, X14=14, X15=2, X5=06, X36 =0, Xs4 =10, X5 =0,

Prova 18...
Problema 1
y1=10, yo=7, y3=0, ys4 =4,
X01=2, X3=0, X34=06, X41=4, X31=14, X42=06,
Problema 2
y1=2, ¥2=0, y3=5, ya=7,
X21=4, X23=12, x34=14, X41=0, X1 3=8, Xp4=2,
Problema 3
Yy1=95, ¥Y2=2, y3=-1, y4=-4, y5=0, yg=—7,
X201=12, X32 =2, X43=28, X14=0, X51 =28, X52 =14, X3 =10, X564 =6, Xs5=0,
Prova 19...
Problema 1
y1:_47 YZ:27 YS:Q Y4:4,
X12 =10, X32 =16, X34=14, x14=10, x13=4, X24=0,
Problema 2
y1==6, yo=0, y3=2, y4=—6,
Xp1=14, X32=0, X43=12 X41=6, X31 =8, X42=2,
Problema 3
y1:157 y2:11a y3:57 Y4:19, YS:14, YGZO,
Xp01 =14, X32 =12, X34=8, X14=10, X571 =0, X5=10, X63=28, X64=8, X556 =0,
Prova 20...



Problema 1

yl:117 yZZO, y3:6, y4:5,
X2’l - 67 X273 = 87 )(473 = 07 X4,1 = 27 X3,l - 27 X2,4 - 103

Problema 2

y1:_37 y2:87 YS:47 Y4:O,
X01=0, X32 =4, X43=12, X14=10, X,3=10, x42 =38,

Problema 3

yl:_17 y2:07 y3:_37 y4:57 YS:57 y6:87
X01=0, X3g2=4, X34=2, X41=0, X15=06, Xo5 =12, X36 =12, Xa46 =2, X56 =14,

Prova 21...
Problema 1
y1=9, y2=11 y3=0, ys4=4,
X12 = 4, X32 = o, X34 = 10, X41= 12, X31= 10, X24 = 0,
Problema 2
yl:07 y2:37 Y3:67 y4:_3a
Xl’z —= 4-7 X2’3 = 2’ )(473 = 14, )(471 = 10, Xl/g — 87 X472 — O,
Problema 3
y1:27 YZ:57 YB:—4, Y4:07 YS:—-?’; y6:O>
X12=6, X32=2, X34=2, X%41=8, Xx51=8, Xo05=0, X36=06, X4=0, X56 =12,
Prova 22...
Problema 1
leO; y2:47 YB:—5, y4:_87
X12=10, X23=0, X43=6, X41=2, X31 =14, X42=2,
Problema 2
y1:_47 YZ=07 YS=57 Y4=27
X12=2, X23=2, X43=10, X41=0, x13=4, X204 =8,
Problema 3

y1==6, yo=-6, y3=-1, y4=0, y5=0, yg=15,
Xp01=4, Xo03=6, X43=0, X41=8, X51 =12, Xo5=12, X36 =14, X46 =2, X556 =0,



Prova 23...

Problema 1
y1:07 YZ:—27 Y3:6= y4:47
X01=2, X23=12, X43=12 X14=2, X13=0, X4 =2,
Problema 2
y1:117 y2:07 YS:—47 Y4:6;
X1=6, X32=2, X34=8, X41=6, x13=0, X4=4,
Problema 3

yl:37 YZ:Q YB:5, Y4:O, y5:_47 y6:_97
X21=10, X23=28, X43=10, X41=12 X51=6, X52=4, X36=0, X64=0, Xg5=14,

Prova 24...
Problema 1
y1:_37 Y2:27 y3:07 Y4:—6,
X12 =10, X32 =10, X43=12, X1 =4, X13=38, X4 =0,
Problema 2
y1:07 y2:_37 YS=—67 Y4:47
X21= 8, X32= 6, X34 = 4, X1.4= 2, X31= 10, X2.4 = 0,
Problema 3
y1:27 YZ:—4; YS:57 Y4:87 YS:27 YG:Q
X21=2, X23=06, X3a=4, X14=12 X51=0, x05=14, X63=12, X46=0, Xg5=16,
Prova 25...
Problema 1
y]_:O, YZZL YS:47 y4:67
X12 = O7 X2/3 = 27 X374 = 6, X174 = 6, X173 = 12, X2’4 = 2,
Problema 2

y1:_37 y2:57 YSZO; Y4:47
X12=14, X32=2, X34=28, X14=4, x13=14, x42=0,



Problema 3

Yi=4, Y2=2, Yy3=-2, Y4a=0, y5=8, yg=—4,
X21="06, X32=4, X34=2, X41=14, X15=12 %5=10, X3=28, X4 =0, X5=0,

Prova 26...
Problema 1
yi=4, Y2=2, y3=0, ys=4,
X1=12, x32=14, x34=12, X41=0, x31 =12, X4 =38,
Problema 2
y1=0, yo=0, y3=5, y4=9,
X201=0, Xo3=4, X34=8, X14=4, X13=14, X4=12
Problema 3
yi=4, ¥2=0, y3=3, Ya=1, y5=4, ¥6=9,
X12=0, X23=2, X43=10, X41 =10, x5=0, Xo5=2, X356 =10, X46 =2, X56 =6,
Prova 27...
Problema 1
y1=0, yo=4, y3=3, y5= 10,
X12=6, X23=0, X34=14, X14=2, x13=4, Xp4 =14,
Problema 2
y1:_57 y2:27 y3:07 Y4:47
X12 = 10, X32 = 14, X34 = 6, X411 = 0, X1,3 = 2, X2.4 = 6,
Problema 3
y1:_47 y2:12a YB:57 y4:O7 y5:87 YG:3,
X12=6, X3gp =4, X43=14, X14=06, X15=0, Xs2 =14, Xs3=14, X564 =0, Xg5= 10,
Prova 28...
Problema 1

ylzou YZ=27 y3:07 Y4:_4,
X12 =14, x32 =10, x43=2, x41 =10, x31 =0, X42=2,
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Problema 2

yi=4, Y2=06, y3=9, y4=0,
X12=2, X3=14, X43=2, X41=10, x31 =0, X42=2,
Problema 3

y1:107 y2:13a y3:0v y4:27 YS:77 YG:5>
X12=6, X3g2 =14, X34=4, X14=0, X51 =10, Xo5=0, X3 =4, X456 =106, Xg5=28,

Prova 29...
Problema 1
y1=0, yo=6, y3=3, ys4=11
X12=14, X32=8, X43=0, X1 4=12 x33=14, X4 =16,
Problema 2
y1:67 y2:35 YS:—37 Y4:O7
X1=6, X32 =10, X43=0, X431 =12 x31 =10, x42 =4,
Problema 3
y1=0, y2=0, y3=2, y4a= -5, ys=4, yg=0,
X201=0, X03=8, X34=0, X41=2, X15=6, Xo5=06, Xs3=4, X46 =28, Xe5=2,
Prova 30...
Problema 1
y1:57 YZ:—27 y3:87 Y4:07
X201 =6, X32=0, Xa3="6, Xa1 =14, X13=12 X4 =2,
Problema 2
y1=6, yo=12 y3=0, ys=3,
X12=4, X23=0, X34=28, X41 =10, x31 =10, X402 =28,
Problema 3
y1=0, Y2=2, y3=7, Ya=3, Y5=-3, Y6 =19,
X12=8, X03=10, X34=0, X14=12 X15=0, X5s20=2, X36 =4, Xa6=4, X56 = 14,
Prova 31...
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Problema 1

yl:_27 y2:37 Y3:5> Y4:0;
X12=2, X32=0, X43=10, X14=6, X1 3=4, X402 =14,

Problema 2

y1:_27 y2:67 YS:37 Y4:07
X12=4, X32=4, X43=8, X14=8, x13=10, x04=0,

Problema 3

Yyi=2, ¥2=5, ¥y3=0, ya=-3, ¥y5=8, Y6=05,
X12=8, X03=0, X43=4, X41=4, X15=12, Xo5=12, X36 =12, X54=0, Xg5= 2,

Prova 32...
Problema 1
y1=2, ¥2=8, y3=0, y4=5,
X12=2, X3=0, X34=12, x14=2, X31=2, X42=26,
Problema 2
y1:47 y2:07 Y3:97 Y4:—47
X21=12, x23=10, X34=0, X41=2, X1 3=12 X42=14,
Problema 3
ylzoa YZ:—57 Y3:57 Y4:27 YS:—47 Y6:—27
X201 =4, X23=12, X43=38, X14=14, x51=8, Xo05=0, X36=0, X64=28, X56 =12,
Prova 33...
Problema 1
yl:07 y2:27 Y3:—3> Y4:5;
X12="06, X32 =10, X34=12 X14=6, x31 =4, X4=0,
Problema 2
y1:47 YZ:O, Y3:—67 Y4:—27
X21= :|_O7 X32= 8, X34 = 4, X14= 07 X31= 6, X422 = 4,
Problema 3

yl:_77 y2:37 y3:O7 y4:_97 y5:37 y6:_37
X12=2, X32=4, X43=10, X401 =12, x51=0, X52=0, X3=14, x46 =14, X55= 10,
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Prova 34...

Problema 1
y1:27 y2:_67 y3:07 Y4:—4,
X12=0, Xo3=4, X43=12 X41=38, X31 =14, X4 =14
Problema 2
y1:_27 YZ:O, y3:27 y4:_47
X12=6, X23=12, X43=14, X491 =14, x13=14, X4 =0,
Problema 3

yl:_67 YZ:Q YB:—Q y4:0a YS:]-Z: YG:67
X12=2, X32 =10, X34=38, X14=8, Xx51=0, Xo05=2, X63=0, X46=28, Xs5=106,

Prova 35...
Problema 1
y1:07 YZ:—37 Y3:0= y4:47
X21= 87 X23 = 12, X34 = 4, X1,4 = 2, X1,3= O, X24= 10,
Problema 2
y1:07 YZ:47 YS:—4; Y4:27
X12=4, X32=2, X34=12, X14=4, X 3=0, X42=12
Problema 3
y1:97 y2:37 y3:17 Y4:37 y5:ov YG:—Z,
X21=2, X3=0, Xx34=12, x41=10, x15=0, X502 =14, Xs3=28, Xg4 =4, Xg5= 14,
Prova 36...
Problema 1
y1:107 y2:07 y3:57 Y4:87
X21= 12, X23 = 14, X34 = 10, Xg1 = 4, X31= 12, X2.4 = 0,
Problema 2

y1:07 YZ:37 YS:—Z; Y4:17
X172 = 47 X372 = 6, X374 = 10, X471 = O, X3’1 = 12, X472 = 8,
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Problema 3

Y1=0, ¥2=3, ¥3=9, ya=13 ys=7, Y =17,
X12=28, X23=28, X34a=4, X14=38, X15=12 X5=4, x36=0, X46=06, X55=0,

Prova 37...
Problema 1
y1:_57 y2:67 YS:O, y4:_27
X1 = 0, X32 = 2, X43 = 4, X1.4 = 4 X13= 12, X42 = 10,
Problema 2
y1:07 y2:_57 y3:37 Y4:97
X2,1 = 12; X2,3 - 67 X3,4 = 27 X1,4 = 47 X1,3 = 107 X4,2 = 07
Problema 3
yi=-8 yo=-3, y3=3, ¥4=0, Y5 =-9, Y6 =2,
X172 = 12, X273 = 10, )(473 = 27 )(41 = O’ X5,l = O’ X572 = 2’ X673 = 14, X674 = 2, X5,6 = 12,
Prova 38...
Problema 1
y1:_37 y2:07 YS:—S; Y4:47
X12=28, X32=14, x34=14, X41=0, x31=4, Xo4=2,
Problema 2
yl:07 y2:_77 y3:_37 y4:3a
X21=4, X23=106, X34=106, X14=06, X31 =38, X42=0,
Problema 3

Yy1=2, ¥2=8, y3=5, y4=15 y5=0, yg=09,

X12=12, X32=2, X34=10, X41=0, Xx51 =14, X52=06, X36=8, X4 =2, X65=0,
Prova 39...

Problema 1

y]_:O, YZ=67 y3:_27 Y4:2,
X12=12, x23=0, X34=12, x14=14, x31 =2, X42 =6,
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Problema 2

y1=0, yo=12 y3=3, ya=6,
X21=0, X32="06, X34=06, X14=2, X13=14, x42=12
Problema 3

y1=12, y»=0, y3=4, y4=6, y5=5, ys =10,
X12=0, Xo03=4, X34=4, X41=2, X51=8, Xo5=4, X36=4, X46 =14,

X6,5 = 07
Prova 40...
Problema 1
y1=0, yo=11 y3=3, y4=6,
X201=0, X32=10, X34=2, X14=12, x13=14, x42 =10,
Problema 2
yl:_17 y2:_57 y3:25 Y4:07
X21=12, X23=12 X43=14, x14=0, X1 3=8, x4 =10,
Problema 3
y1=6, ¥2=2, y3=0, Yya=2, y5=11 yg= -3,
X12=0, X32=14, x34=6, X1 =10, x5=10, x5=10, X63=38, X4 =14, X56=0,
Prova 41...
Problema 1
y1:67 YZ:—27 y3207 Y4:07
X2,1 = 27 X2,3 = 27 )(4,3 = 07 X4,l = 87 X3,1 = 147 X2,4 = 147
Problema 2
y1=10, yo=0, y3=14, y4=6,
X12=0, X3=14, x43=10, X41=2, X13=2, X4 =12
Problema 3

y1:27 y2:77 Y3:37 y4:O7 y5:_27 YG:—57
X12=4, X3p =14, X43=38, X341 =12 X571 =10, Xx520=28, X36=0, X46 =0, Xs5 =4,
Prova 42...
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Problema 1

y1:37 y2:3, Y3:07 Y4 = _27
X21=0, X32 =106, X43=10, X41 =12 x31=14, x40 =10,

Problema 2

y1=0, Y2=4, y3=8, ya=2,
X12=14, x23=10, x34=0, X14=6, x13=4, X42=4,

Problema 3

yl:_6a y2:_77 y3:_37 y4:Oa YS:—37 YG:3>
X01=0, Xo03=14, X43=0, X14=10, X;5=8, Xo5=06, X3 =2, Xa6=2, X56 =06,

Prova 43...
Problema 1
y1:O7 y2:47 y3:_37 Y4:6;
X12 = 2, X32 = 6, X43 = 0, X1,4 = 14, X31= 2, X2.4 = 10,
Problema 2
yl:_37 y2:57 Y3:87 Y4:O7
X12=2, X3=28, X43=14, x14=2, x31=0, X42=06,
Problema 3
y1:47 YZ:9, YS:4> Y4:2= y5:07 YG:—37
X12=6, X32=2, X43=2, X41=2, X51=8, Xo05=0, X3=12, X46=0, Xg5=14,
Prova 44...
Problema 1
yl:07 y2:_57 YB:5> Y4:27
Xo1=2, Xp3=4, X43=2, X14=8, x13=10, x42=0,
Problema 2
y1:67 YZ=—27 YS=07 Y4:107
X1’2 = O, X273 = 6, X374 = 12, X174 = 87 X371 = 2, X274 = 4,
Problema 3

Yy1=2, ¥2=5, y3=8, y4=10, y5=0, ys=F6,
X21=0, X23=10, X34=38, X14=6, X51=6, X52=4, X36=0, X564 =14, X56 =14,
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Prova 45...

Problema 1
y1:37 y2:_67 y3:07 y4:67
X12=0, X03=12 X34=8, X14=2, X31 =38, Xo4=14,
Problema 2
yi=7, y2=10, y3=0, ys =4,
X12=2, X3=0, X34=8, X41=2, x31 =10, X42=12
Problema 3

y1:67 YZ:8, YS:]-Oa y4:0a y5:107 YG:—3,
X12=12, Xp3=4, Xx34=0, X41=8, x15=12 X5=8, x36=0, Xg4 =12, Xg5= 10,

Prova 46...
Problema 1
yl:o’ y2:_3, y3:_57 y4:27
X21=2, X32=28, X43=0, X1a=4, X31=8, x4=12
Problema 2
Y1=0, y2:_27 y3:57 Y4:37
X21=12, Xo3=2, xaz3=14, x14=10, x31=0, X4 =14,
Problema 3
y1:4’ y2:07 y3:4’ y4:_17 YS:67 YG:07
Xo1=2, X3=12 X43=2, X41=12 x15=8, X52=0, X63=4, X46=0, Xg5=12
Prova 47...
Problema 1
y1:3’ y2:_7, y3:_27 Y4:0,
X21=2, X23=2, X34=14, xa1=12 x13=0, X4 =10,
Problema 2

y1:_37 y2:07 YS=37 Y4:_17
X12 = 2, X23= 12, X43= 6, X14= 47 X13 = 6, X42 = 0,
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Problema 3

Yi=95 Y2=7, y3=11 y2=8, y5=0, Ys=3,
X12=12, Xp3=4, X43=12 x14=10, x51 =10, X502 =6, X36=0, X456 =0, X56 =10,

Prova 48...
Problema 1
y1:_57 y2: _97 y3:07 Y4:47
Xo1=4, Xo3=2, X34=06, X41=0, X1 3=10, Xp4 =6,
Problema 2
y1:o7 y2:_27 YS:47 Y4:—67
X1,2 = 07 X2,3 = 147 X4,3 = 87 X4,1 = 87 X1,3 - 67 )(4,2 = 67
Problema 3
Yyi=—-2, Yo=—2, Y3=—4, y4=0, y5=5, yg=3,
X12=0, X32=28, X34=12, X14=8, Xx15=2, X52=0, x36=14, X46=28, Xs5="6,
Prova 49...
Problema 1
y1=2, ¥2=10, y3=5, y4=0,
X12=28, X32=06, X43=14, X41=2, X13=2, X4=0,
Problema 2
yl:_37 YZ:27 YS:27 Y4:0,
X1,2 = 87 X2,3 = 07 )(4,3 = 10, Xl,4 = 67 X1,3 = 147 )(4,2 = 107
Problema 3
yi=-3, ¥2=0, y3=5, yu=2, ys=4, ys=0,
X12=12, X3=10, x43=14, x41=0, x5=4, Xo5=14, X53=0, Xg4 =28, Xg5= 10,
Prova 50...
Problema 1

y1:47 y2:07 YS:27 Y4:_6,
X2’1 = 14, X273 = 6, X473 = 14, X174 = 07 X371 = 6, X472 = 10,
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Problema 2

y1=-3, Yo=05, y3=-8, y4=0,
X12=2, X203=0, X34=106, X14=4, X31 =10, X42 =2,

Problema 3

y1:47 y2:67 y3:07 y4:_67 y5:10, y6:_37
X12=2, X32 =4, X43=06, X41 =10, X1 5=10, Xo05=06, X53=0, X46=2, X56=0,
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